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his program calculates the average surface temperature of a
planet. You will choose numbers that describe how massive the nearest
star is, how far away that star is from your planet, how much of the
incoming starlight is reflected off the atmosphere and surface of your
planet, and how much greenhouse effect is produced by your planet's
atmosphere.

he program will then use these numbers to calculate the average
surface temperature of your planet.
continue |

® 2EY

RECW NZES ) 23 210

13 1. http://www.astro.indiana.edu/~gsimonel/temperaturel.html 2]
%7 34 B

R0 msRw
@ @-% m-08

or your Star

distance)  (bond albedo (Grecnhouse effect

Bl =220

VoS e Neron s g -

@ ol
Y - e ss

q
o
w
ot
oX,
i)
Og(:,“
oX,
L
lo
Y
G
il
i
e
Lot
n=)



3. 0hge B S Yt o] ghe AT g%
Fow 0% Wit @

2 B WARSFE 100, SRS HEARSEA]

E_(j_Cﬂ = :?“ Q}\] next= Tt‘:]'

4. thgro 2= 247l tieh g Wtk o] #h2 Al A

ol et ATe] SAFIE 12 B3

}e wje
gk, w49 Aol ojul @ Hwe] LA EH
==

ouv2 1-5007H41¢ & AHEA
nexts =3}

PRBIREE! gkﬁ

oo calculateS

to |o

rr 22 pd N



6. caculateS ZF¥shd ¥ 73} e
shH o] Yepdt) zpale] =k gk
S HEe=E O P &7 YR
F91H “cold!”, AHA7} A7 A
Fal BQIThH “habitable?”o] 2=
AL ele = 4 A 34
“hot1"o|E}= HE7}F melth wpale]
e PAo) AgromiE A
S o) FRak, Bel A, B
] A, WAk, LA w58
133 P FH ) Ayl
=, A4, A EAH0 B AN

d

l:kl 4

Hr}
18] 6. calculates FE2HW
o= e
ks %)
1. 9o ==

2)

3)
4

AS o]8ato] Bl A=A RS BolE Ak
a9, Bgke] A= 01 @elE 24
o Wb} 24 make A7 ghS Tl o 88
Bt A Atole] ol Ame] Wik AWA|7F AukekA
(habitable) ot il =1 AT Fo] 9o BlFS FAoR sk
Yo7 KA.
o) gkl B4, AT} ) AES T RA A, 2zt
o At 9T AX Wolza AR,
gloke] A=A E3l= PALS ojul AP
A3 "ok A= ok 0.7 AU, 3MF Bk Al ok |
AUoI™ T4 9] WAL 85%0] 3L 3H4 9] WALE S 15%°]th ]
TolA el &4 32 12 B w FAdA e 24 Fd=
200, 3ol Ao &4 g3h= ool 7). o] g Wold Ze o
HE AgafEal 7 P BH2EE AHAL Aol At
712



2. 19 W 2o wbgo = e o disix] AEA MY
ADE THEA. WA 24 oke BT A7) gk 29,
24 &31E o83
D) 7P B BME)e) AEA ¥E TeRAL M3 He) d

& el of 03ujolth. (&, olu B A4 Aol A
0.01 @92 -3 WS T3t

n.t[o
_\3

2) 7V A3 2571 =2 039 AEH] H9E FejuAk 0
o] A Bk oF eorfo|th(th, olwle AT A Atol <]

2 0 -

AE 1 H92 2HeEA HYS e

3) SlolA T3 @S vl AEAs vasRA. oHg Hjol)

D=7 D
SRR
HES T4 FTAY A7l wet AerbA] 3P ow EFdnh &
B S Sl wet 7714 Gi(O—B—A—F—G-K-M)Ei v
W EEE OFoR A4S i MPOE 45 Hn

m U
offt
>
N
o
>
o

1. ARR A3 vigez Ao 3W 2527F Y& Hicold)al e
= 73Fell= B3 e Al ¥ 22 e tidstaL itz 3

FH 257F U EtHhot)al We = Apelle A3 34

o ¥ 2 #& dstar A=A HAE Fetofof itk

= 2 HE(RHE, 24 adhS HsArIEA AE

Al Weh=A = A



